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TRADING CONCEPT 
�� Risk of Ruin 
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2. ���������������� (Payoff Ratio) ��$
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�
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5%) 
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E = %Win* Avg. Winning Trade-%Loss* Avg. Losing Trade 
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��� E = 50%*10 - 50%*5 = 2.5 % ��!��Q�!�
E���	-
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 2.5% �������
�� 1 ����� 

  ��������������������%1� ����%"�� �����������-��
�'� 25% 
-�&���������������� 6 �
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�& 5%) 
E = 25%*30 - 75%*5 = 3.75 % 
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�'��� 30% ���������� -�����
�
 5% ��������) 
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1. ���������-��
�'� (%Win) 
2. ���������������� (Payoff Ratio) -�����#&-���(�&������!� 
      %�'���#������
��
���'��� 1 ����� (Avg. Winning Trade) 
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 1 ����� (Avg. Losing Trade) 
3. �&��	
��0��"# (Maximum %Risk) #�����
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E = %Win* Avg. Winning Trade-%Loss* Avg. Losing Trade 
E2 = (%Win* Avg. Winning Trade

2+%Loss* Avg. Losing 
Trade2) 1/2 
P = 0.5*(1+ E/ E2) 
 

Risk of Ruin = [ (1- P ) / P ] Maximum %Risk / E2 
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������ &��  
1. %Win 50% 
2. Avg. Winning Trade 10% , Avg. Losing Trade 5% 

3. �&��	
��0��"# 50% (-�������%
�������/��#&

���������) 
 -

��������#&��� Risk of Ruin = 1.59% 
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��#&���-�� �#����
�
����
!���#
��%
����� 
50% -�&

������ ��%
���#�������� -		�
���
�
  
 

%��
������ '�   
1. %Win 25% 

2. Avg. Winning Trade 30% , Avg. Losing Trade 5% 

3. �&��	
��0��"# 50% (-�������%
�������/��#&

���������) 
 -

��������#&��� Risk of Ruin = 20.82% 
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'��'����������������� 3.75% T/���(�����-		
-�� (0��������-��#&���'����������-		-��) -���
!���#��
����-��
�'�
��� )����E%�0/� 75% 
'�"��)�������-����!�E%�
�%������
���� ������$
���%
1%�#_��(�0/� 20.82%  
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2) "P��%1������
�
"��
����� �P�
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��#&T!��
��� ��.� (��� 30% 
���� 5%) "P����T!��
��&��/�� ��.� (��� 15% ���� 2.5%) )����
#	-		���
�
#&���!�� ��� 4.34% 
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'.6�7/
8,9:.;� (Japanese proverb) 

 

"Vision without action is a 
daydream. Action without 
vision is a nightmare." 
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